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1. All the questions are compulsory.
2. Internal options are mentioned.
3. Figures to the right indicate marks.

4, Attempt either A or B in each question.

UNIT-I

Discuss the various theoretical perspective on life span development.
OR

Discuss the root of language.

UNIT-II
Discuss the various alternative birthing procedures

OR :
Discuss motor development in infancy including various issues related
to it.

UNIT-III
Explain the terms in brief. (Any 5)
Gross motor skills.
Nutrition in infancy.
Multimodal perception.
Structure of neuron.
Brain plasticity.
Sudden infants death syndrome.
OR
Differentiate between (Any 3)
Assimilation V/S accommodation.
Primary circular reaction V/S secondary circular reaction.
Information processing V/S Paiget’s approach.
Learning theory approaches V/S Vativist approach.

UNIT-IV-
Write short note (Any 3)
Experimental method.
Piaget’s theory of cognitive development.
Longitudinal studies.
Theoretical and applied research.
OR
Discuss the following statements. (Any 3)
According to one estimate an average Indian baby weighs about
2800 gms (2.8 kg) when born at full term.
Genes determine the nature and function of every cell in the body.

Parents usually choose circumcision due to health, religious, cultural
and traditional reasons.
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The score below 7 means that the baby needs help to establish breathing.
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